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Il Semester B.Com. Examination, AugusUSeptember 2023
(NEP - Freshers and Repeaters)

COMMERCE
Paper - 2.3 : Business Mathematics and Logical Reasoning

Time : 2/z Hours Max. Marks : 60

lnstruction : Answer should be written completely either in English
or Kannada.

SECTION - A

1. Answer any five of the lollowing questions. Each question carries 2 marks.
(5x2=10)

a) Let A - 12,4,6) and B = {4, 6, 8), find AuB.

b) lf x + 4x = 50, lind x.

c) trA=[2 o'l"ndB=[3 4l.FindA+B.
' L1 8l L52l

d) What is meant by simple interest ?

e) lf a = 3 and d = 2, find the 5'h term of an A.P.

f) Divide Rs. 500 in the ratio ol 2'.3.

g) A is the lather ol B and B is the sister of C. How A is related to C ?

i) Father ii) Mother iii) Daughter iv) Sister

SECTION - B

(3x4=12)

2. lf A= lO, 1,2,3, 4, 5), B - {2, 4,6, 8}andG= {1, 3, 5, 7}.

Findi) AUBUC
ii) AnBnC.

3. Solve for x and y il

2x+3y-10
x+y-4.

.{@r
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Answer any three questions. Each question carries 4 marks.

P.T.O.
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"noe=[27) L3

r A=[3
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find AB.

5. Find the sum of the series 5 + '10 + 15 .... upto 10 terms.

6. Compute compound interest on t 10,000 @ 1O/" p.a. payable half yearly for
3 years.

SECTION _ C

Answer any three of the following questions. Each question carries 't0 marks.
(3x10=$Q)

7. a) Solve for x by lormula method :

x2-4x+2=0.
b) Find TD and BD on a bill of { 7,800 due 4 months hence at 8o/o p.a

8. tf A= prove that A'z - 8A - 201 = 0.

2

4

4

9. Solve by Cramer's rule

5x-3y -24
-7x+1lY=14.

10. Find the difference between S.l. and C.l. on t 10,000 for 5 years at 5% p.a.

11. Monthly incomes ol A and B are in the ratio of 3 : 4 and their savings are in
the ratio ol 1 '.2. lf each of them spends { 6,000 per month, what will be their
incomes and savings ?

SEGTION - D

Answer any one of the following questions. One question carries I marks. (1x8=8)

12. a) Father is 20 years older than his son. 5 years ago his age was 5 times of
his son. Find their present ages.

OR

b) ll 12 pumps working 7 hours a day can lift 2,800 gallons of water in 20 days.
ln how many days can 20 pumps working t hours a day lift 3,000 gallons of
water ?
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1. o$a$oddo ocb 6d.(dpri erugo$. €,.9 4,E4ri 2 soddd.:.

a) A = {2, 4, 6} d>q B = {4, 6, 8} erdd AUB oJ:$",dod)&aobo.

b) x + 4x = 50 erdd x drJcl:&- dod)bBobo.
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(5x2=10)

(3x4=12)

aFil-a

oJn{oddo E$Ja& -9d4d9il w$oa. $3 {dnrl 4 eodrl$.

2. A= {0,'t,2, 3,4,5}, B= {2, 4, 6, 8} dlQ C= {'r, 3, 5, 7} udd
i) AUBUC
ii) A n B n C dddldod:3oaocro.

3. x d:d: y ilddtr t:Btu.

2x+3y=10
x+y-4.

O nddDBGaodded) ?

e) a = 3 &* d = 2 erdd #nodd 4e@c$ Sde daBQdod)&aoDo.

l) 500 dJa6aobrlddtr2 : 3 d (,$eiddo_e?rdtu.

S) A oJDB obdoddlQ B o1r: C dfdJoedoo3Ddd,AoirC riolndoe3
BorJoQolDR&EJd ?

i) dod ii) @oor iiD d)d$ iv) Bdoedo

", ^=[? l.e'=[: ;] A+Bed1dod,&aobo.

4 erdd AB o$dl Eod)&6ocJo.

5. 5 + 10 + 15 .... 10 d"ddnd ioalrlg dnda-d1dod)&aooo.

6. 10,000 droDog)rl$i d:ed 10% 6Dc\rd Dao$od er{r d)&Fd zra@odgolDdd
3 ddrrlezl a*9, rJB@9irdi dod)EoBobo.

:)
A=[3

L6 "=[2Ls

5

1
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olDdoEddro dm&,9 {ilgri sDgon. 4-Bdd4ii 10 eoddsb.

7. a) do$d ae"daod x d ale3o$dcn do&&aouro :

x2-4x+2-0.
b) 4 eodd ;Jodd slaS q&d 7,800 dra@ou) aO_d d>eeJ 8% p.a ?JBoi)od TD dJd)

BD rld$ dodrb@cbo.

erdd A'?- 8A - 201 = 0 aod: OdrJ&rr

9. $ed:dd Oodr&d iaao$ood ia:eddmrl9dl ria:r.

5x-3y=24
-7x+11y-14.

10. 10,000 draoac$rl$ d:eej 5 ddrllg uded 5% a""\rd rJBp$od iddua@d)d)
dg uaJrl$j dd)ed dd 6r6idd) dodrbaobo.

11. A d:d) B ddd ero-rodldt 3 : 4 d eibaaddO_d d:dr crdd erDg@o$d) 1 : 2 d
edrmddO_d. .sDdrr gerJ -99 9ozldc 6,000 drDDocJiJSdJ4 dq dnadd, erdd
eroao$ dJdJ erDeuJo$il9$4 Eod:&aoo:o.

AqlDd - a

obdaaddn a.oa3:$dri erDdoAr. s-od)E! 
",ii8 

eodrlsb. (1x8=8)

12. a) dodod; do$fD abild dob:rnod 20 ffir d?,i-?lndrgd. 5 ffirrld &od dodolr
do$dr abild dodrld sd*Q. udd €,lDd dobfrrnddidod)baox)o.

e,cD

b) 12 dodtlct 20 AdiWO-{e 6d 7 rlot3d$od ulo6F0drb:r 2,800 nadso6rl9-*r1

Oed${ dJo?:n)dd. 20 doddd; €,.aad 9 rlorirlgod daodJrpdr&A 3'000

mdodb4ilg Aeddld)ozsneD o-dD ad zieraitdd ?

(3x't0=30)

8
12441

a=lq z +l

loor)


